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Midterm II — Answers

1. (a) ARMA(0,0)

(b) Mean, variance and covariance do not depend upon time

c) EY)=E(#+ec)=4¢
)
)

(
(@) V() = E[(Y - w)’| = B[V~ 9| =B (c}) = 02
(e) COV (V1. Yi—j) = E[(Y: — ) (Yiej — )] = E[(Y — #) (Yi—; — $)] = E (e121—;) = 0j #0

S

2. (a) InL(©)= —%11(1277 - %11(102 — Tiz Z(yt —Cc— QY1 — Hat,l)Q

t=1

T
(b) In OLS we want to minimize SSR = Zsf Here In L (©) is a function of —SSR and hence we
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3. Yign = p+ BXiyn + €e4n
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a) Yipne = E(Yeun|) = E(p+ BXepn + ee4nl) = p Vh
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(b) etyn = Yign — Yt+h|t = p+ BXern +etrn — = BXirn +etrn Vh
(©) V(etrn) =V (BXtin +eryn) = 0% + 02 Vh
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(e) A plot of Y versus ¢ will show straight lines for each. Part (a) is a straight line equal to u and the

upper and lower bounds will be also be straight lines equal to u plus and minus 2/3%0% + o2.
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The second table adds additional lags of the error term (specifically the estimated residuals) on
the right hand side. If those coefficients are significant, then it implies that the first model did

not remove all of the correlation in the error and hence the residuals are not white noise.
There is no autocorrelation in the residuals. Correctly specified.
There is autocorrelation in the residuals. Incorrect specification.

If we fail to reject then we move onto forecasting. If we reject the null we must find a new tenative

model.



